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1 213 4 5] 6 7 9 10 | 11 | 12 13 14 15 | 16 17 18 19
Benpukisebke| 21 {131 2,3 10C3+/13+bn 76 10,65] 1 26 32 380 4 | BCP | IowkopxKeHHs 25 3rigHo MaTepiajis
-/- 24 | 1 26 | (417,21 17,2 6C34]13+bn 81 | 06 | 1 27 36 370 4 | BCP| wkiaHukamu 50  |nicoBnopsAKyBaHHs
-/- 87| 8| 265]| (4)]10,8] 10,8 8Cslslnel 3+Hm 83 | 0,6 1 28 38 390 3 | BCP -/- 40 He BUSBJICHO
Pa3om 54,8 28 | 28
JHoporuHcske | 7 1 80 | ()54 54 10C3 101 | 0,65 1 27 40 445 | 2 BCP -/- 90 -/-
-/- 14 112] 2.1 10C3 96 | 0,65 1 29 40 475 | 2 BCP -/- 90 -/-
-/- 26 | 3 1,8 10C3 101 | 0,65 1 27 36 415 2 BCP -/- 80 -/-
-/ - 28 1 5 6,0 | ()] 3 3 9C31/13+13 101 10,55 1A | 33 40 400 2 BCP -/- 90 -/-
-/ - 33 12| 39 10C3 80 | 0.7 1 27 32 440 2 BCP -/- 60 -/-
-/- 331171 2,0 10C3 81 0,7 1 26 32 420 2 BCP -/- 80 -/ -
-/ - 38 (34| 13 10C3 66 0,6 | 1A | 26 36 390 2 BCP -/ - 80 -/-
-/- 47 [ 16| 14,5 10C3 76 | 0,65 1 26 36 387 2 BCP -/- 80 -/-
-/- 47 1194} 0,5 10C3 61 0,7 | 1A | 23 30 380 2 BCP -/- 75 -/-




-/- 52 1 7,6 10C3+]13 86 1045 1A | 29 40 300 2 BCP -/- 80 -/ -
-/~ 52 (21 0,7 8C32Knr 58 0,7 16 | 26 30 365 2 BCP -/- 70 -/-
Pazom 48,4 84| 8,4
CHITHHCbKE 37| 4 1,2 10C3 81 0,6 1A | 29 36 390 2 BCP -/- 40 -/-
Pazom 1,2 0 0 . \
dacrischke 3715 12,0 9/1316n+0c,Bn4,C3,JInx 91 0.7 2 25 30 296 3 BCP -/~ 35 -/-
-/- 4 | 6 | 46 103+Bbpc+Uw 101 | 06 1 29 36 348 2 | BCP -/- 40 -/-
-/- 73| 14| 25 10/3+Ina+Bpe+Kar 9% | 07 | 1 28 40 376 3 | BCP -/- 35 -/-
-/- 120 1| 42 703303 81 | 07 | 1 25 32 286 4 | BCP -/- 25 -/-
-/- 1200 2 | 3.0 6113413 76 | 07 | 1 26 32 296 4 | BCP 35
-/- 124 23| 3.7 10C3+/13 8 | 0.5 1 27 40 325 4 | BCP -/- 45 -/-
Paszom 30,0 0 0
BCLOI'O 134,4 36,4| 36,4
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